Kurt . Lesker

ompany

User Manual

Pneumatic Aluminum Gate Valves

AGV Series




Kurt

J. Lesker

Company

Table of Contents

TRANK YOU! <.t e e e ettt e e e et ta e e e eaataeeeeastaeeesstaeeeensaeeeessaeeeensseeesansseeesannaneennn 3
Products Covered in IManUAl........coceeiiiiieieeeeee ettt sttt et s s et e b e sbeesaeesane e 3
Y o 1Tol | Tor= 1 4 [ o PR 3
D] g =T 0 1 T o[- SO PTSPUPRRPN 5
o= A= T 0 T PO PPN 6
OPEN/ClOSE SEUUENCE.....eccuveeeteeeetee ettt e eteeeetteeeteeeetteesaeeseteeesbeeeasseeasseesbesesssaeaaseseasseessssessseesnseseasseesseeanes 6
Y=T 0 Ko g @oT a1 o T=Tot £ o O PP TSP PP PO 6
SOIENOIA VAIVE.....eeieeee ettt ettt e st e s bt e e st e e s bt e e sab e e sabeeeabeeesabee e sbeesabeesaneeesabeeenns 7
INSTAIATION L.ttt ettt e st e bt e s bt e e bt e e s a b e e s bt e e sabeesabeeebbe e s bee e bteeeareeeneeesareenn 8
L6101 1o o [PPSO PPURRPPRPN 8
MouNting Side 10 VACUUM SYSTERM .......uiiiiiiiiie e ceeee ettt e e etee e e e bee e e e et e e e e e sabee e e eenbaeeeeenbaeeeennseeeeennsenas 8
Air Tube and SeNSING CONNECLION ...c..uviiiieiiiee ettt e e e e rre e e e e tree e e e tbae e e eareeeeenbeeeeenreeeeennrenas 8

Y Yol e =T e T aTol=I: [ [o Y=Y o - 11 U SPTSP 9
1. Preparing Parts @nd TOOIS .....uuii ittt et et e e et e e e e e s e sabe e e e e sabee e e e eraeeeenareeas 9
1.1 Needed Parts @nd TOOIS ....c...oouiiieeieiie ettt st st st b e e sbe e saeesaneeas 9

1.2 PrE-WOIK .ttt ettt e b e b e st s bt et e bt e bt e she e sat e e ae e et e e nbeenbeesheesanena 9

2. Housing (Body) Cleaning and O-Ring Replacement..........ccoecuiieiiiiieeeeciiee et et 10
2.1 HOUSING ClEANTNEG. .. .viiiiiiiiie ettt e e et e e e st e e e e st b e e e e sasseeesasbaeeessnsseeesnnsseeenan 10

2.2 Housing O-RiNg REPIACEMENT ...cciuiiiieiciiiie ettt e et e e e e sere e e e saraeeeas 10

3. Gate Cleaning and O-RiNg REPlaCeMENT ......ccccuiiii e e e 10
3.1 (G Y (I @ =T YoV o= USRI 10

3.2 Gate O-RiNG REPIACEMEBNT....cii i et e e e a e e e e sabae e e enaraeas 10

LI e 0] o] 1T g oo 14 [ oY SP PP 11
CONTACE FOF SEIVICE ....eeiiiiiiiiie ettt sttt e r e s bt e s bt s et st et e bt e meesme e et e enteenneesbeenneesanenas 12

AGV Series User Manual 2



Kurt J. Lesker

Company

Thank you!
Thank you choosing Kurt J. Lesker for your vacuum valve needs. We strive to be your partners in
all your vacuum projects. This manual contains everything that you should need to know to
operate and maintain your AGV Series gate valve. If there is anything that you need assistance
with that you cannot find in the manual, please reach out to us for further assistance.

Products Covered in Manual

AGVO0150PVQF
AGVO0250PVIF
AGVO0400PVIF

AGVO0600PVIF

Specifications

1 | Pressure Range 7.50x10°® Torr (1.00x10°° Pa)
. . Open Direction 1200 Torr (0.16 Mpa)
2 | Differential Pressure on Gate Closed Direction 1200 Torr (0.16 Mpa)
3 | Differential Pressure at opening 22.50 Torr (0.003 MPa)
. External 7.52x10° Torr*|/s (1.00x10%° Pa*m?3/s)
4 | Helium Leak Rate Internal 7.52x10° Torr*|/s (1.00x10%° Pa*m?3/s)
5 | Feedthrough O-Ring Shaft Seal
6 | Actuator Pneumatic Double Acting
7 | Air Connection Solenoid Valve OD 4mm
8 | Air Pressure 66-86psi (0.45-0.60 MPa)
. . . Open < 2sec
9 | Open/Close Time (switch to switch) Close <2 sec
10 | Mounting Position Any
Mechanism 200,000
11 | Life Cycles O-Ring Seal 200,000
Lubrication 200,000
Gate (seat) 248°F (120°C)
12 | Temperature Actuator 140°F (60°C)
13 | Lubrication PFPE Grease
Housing 6061 Aluminum
. Gate 304 Stainless Steel
14 | Material Bonnet 6061 Aluminum
Shaft 304 Stainless Steal

AGV Series User Manual 3




Kurt J. Lesker

Company
Gate Seal FKM
Bonnet Seal FKM
Housing Anodized (white)
Gate Buffed
15 | Surface Treatment Bonnet Anodized (white)
Shaft Bare
Actuator Anodizing (white)
Type: Micro switch
Quantity: 2
Sensor Mfr: SAIA
Model: XCG3
Max. Output Current: 3A
Connector 3M 3P Male (37103-3122-000FL)
Electrical Connection
3M 3P Male
16 | Electrical Connections (37103-3122-000FL)
Pin Assignment ! —O/]
3 N/A
Mfr: SMC
Solenoid Model: SY3140-5MZ
Voltage: 24VDC

AGV Series User Manual 4



Kurt J. L

Company

Dimensions

esker

L1 A
1]
= A
y

*Representative Image

Part Number Flange Thread Dim A in (mm) D;:::ﬂm Dim Cin (mm) | Weight Ib (kg)
AGVO0150PVQF KF40 N/A 10.19 (258.9) 2.01 (51.0) 2.95 (75.0) 3.31(1.50)
AGV0250PVIF ISO63-F M8 x 1.25 16.73 (425.0) | 2.36 (60.0) 5.12 (130.0) 11.0 (5.00)
AGVO400PVIF ISO100-F M8 x 1.25 20.73 (526.5) | 2.36(60.0) 6.50 (165.0) 15.4 (7.00)
AGV0600PVIF ISO160-F M10x 1.5 27.17 (690.0) | 2.76 (70.0) 8.86 (225.0) | 24.3(11.0)

AGV Series User Manual )




Kurt J. Lesker

Company

Part Names

Valve Housing Blade Actuator Module
(Body) (Gate) (Cylinder)

.................................
- g

Open Blade Up Close

Sensor Connection

Microswitch Specification Circuit Diagram

Manufacturer SAIA

Model XCG3-J171 4h

Voltage Range 250VAC :

Output Current 3A

Connector 3M 3P Male r
pul tow

I | I

CO NO NC

AGV Series User Manual 6



Kurt J. Lesker

Company

Electrical Connection

3M 3P Male
(37103-3122-000FL)

1_o/_I

2

Position Sensor

(Close) 3 N/A
Position Sensor
(Open)
Solenoid Valve
Solenoid Specifications Symbol
Manufacturer sMc 2 position single
Model SY3140-5MZ
Voltage Range 24VDC M(AM i
Pressure Range 22-86psi
(EA)5 1 3(EB)
(P)

0—— Connector

Position Sensor
(Close)

Silencer ——o

0—— Connector

Main Air o
Position Sensor

(Open)
Solenoid Valve

AGV Series User Manual 7



Kurt J. Lesker

Company

Installation

Cautions
1. Use alcohol to clean the product prior to mounting so that foreign particles do not get inside the

valve.
2. Air tube connection and electrical connections are completed after mounting the valve to the

vacuum system.
3. Never put hands, fingers, tools or any other objects on or in the product when operating.

Mounting side to vacuum system
DN100 Centering

CHAMBER ISO-K Type
PUMP
ISO-F Type

1. Do not forget to insert a centering ring on the groove before bolting flanges (see above).

2. Air connection 4mm OD

Air Tube and Sensing Connection
1. Recommended air pressure is 0.5MPa (0.45 — 0.6Mpa)

2. Air tube diameter 4mm
Blade Sealing side

!

‘i M 3P Male —>{ g

Connector

.,
O

\ Compressed air inlet

(@4 Tube)

AGV Series User Manual 8



Kurt J. Lesker

Company

Maintenance and Repairs

1. Preparing Parts and Tools
This product does not need to be maintained for the specified guaranteed period under clean
circumstances. However you may need to maintain or repair the product within the period
depending on user circumstances.

CAUTION: If you want to maintain or repair the product on your own, please do so in a clean
room to prevent particulates from entering the valve. Be sure to fully understand all
instructions and safety precautions before proceeding with any maintenance.

1.1 Needed Parts and Tools
e  Metric wrench set
e O-Ring Pick
e Rubber Gloves
e De-ionized water
e (Clean wipe

1.2 Pre-work
1) Ensure that the chamber is vented and the valve is in the open position
2) Disconnect the compressed air and sensor connections
3) Remove the bolts and washers to disconnect the Top Housing from the Bottom Housing

Bottom Housing

4EA M6x55 Wrench Bolt removal
4EA M6 Spring Washer removal

Top Housing

AGV Series User Manual 9



Kurt J. Lesker

Company

2. Housing (Body) Cleaning and O-Ring Replacement

2.1 Housing Cleaning
1) Clean the top housing with de-ionized water
a. Depending on the cleanliness of the valve, alcohol may be used

2) Clean the bottom housing with de-ionized water

2.2 Housing O-Ring Replacement
1) Remove the O-ring from the bottom housing using an O-ring pick
2) Before replacing the new O-ring, clean the O-ring groove and insert the new O-ring
carefully.
3) After finishing the previous steps, assemble the top and bottom housings in the reverse

of how it was disassembled.

Replacement

) -
/ Bottom Housing

O-Ring AS568A-242

3. Gate Cleaning and O-Ring Replacement
3.1 Gate Cleaning
1) Move the gate (blade) to the “up” or “closed” position after disconnecting the top
housing from the bottom housing.
2) Clean the gate with de-ionized water

3.2 Gate O-Ring Replacement
1) Remove the old O-ring from the gate using an O-ring pick
2) Before replacing the O-ring, clean the O-ring groove and the new O-ring
3) After finishing the previous steps, assemble the top and bottom housings in the reverse
of how it was disassembled.

AGV Series User Manual 10



Kurt J. Lesker

Company

Blade up

Compressed air
inlet

Troubleshooting

O-Ring AS568A-243

Replacement

Top Blade

1) Before requesting inspection or service, please refer to the following table.

2) When asking for inspection, service, or general information, please include the following:

a. Model Number
b. Serial Number
c. Date of purchase and installation

Issue What to check

Solution

Air cylinder leak
Input air pressure
Air tube connecting
Position sensor

Valve operation

Cylinder repair or replacement
Adjust air pressure

Ensure correct air tube size
Adjust sensor position or replace

Sensor Sensor Connection

Position sensor

Correct the sensor connection or replace
Correct the sensor position or replace

Gate seal contamination
Gate seal damage
Input air pressure

Internal Leak

Clean the gate
Replace gate seal
Adjust air pressure

Housing seal contamination
Flange leak

Shaft seal leak

Bonnet seal damage

External Leak

Cleaning

Cleaning and/or flange seal replacement
Repair/replace shaft seal

Replace bonnet seal

AGV Series User Manual

11




Kurt J. Lesker

Company

Contact for Service

Kurt ]J. Lesker

Company Enabling Technology for a Better World | www.lesker.com

Kurt J. Lesker Company Kurt J. Lesker Canada Inc. Kurt J. Lesker Company Ltd. Kurt.Lesker (Shanghai) Trading Company
United States - salesus@lesker.com Canada - salescan@lesker.com EMEIA - EMEIAsales@lesker.com B3R CEWE) fAA R AR
+1412 387 9200 +1416 588 2610 +44 (0) 1424 458100 Asia - salesasia@lesker.com

+1 800 245 1656 +1 800 465 2476 +86 21 50115900

AGV Series User Manual 12



